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1 Option B is correct This information in paragraph 5 illustrates the unique step-by-step 
building method. The author uses visual description and compares 
the process to the modern technique of using pile drivers to help 
today’s reader understand how it worked.  

Option A is incorrect  
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2 Option C is correct This quotation clearly supports the thesis of the article by stating 
that humans successfully modified a natural marsh into Venice, “a 
masterpiece of urban development.” 

Option A is incorrect In this quotation, the author provides reasons for Venice’s wealth. 
The article’s thesis focuses on the unique construction and 
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4 Option C is correct The words “marvel” and “magnet” in the phrases clearly convey a 
sense of “amazement and enthusiasm” for how well Venice had 
developed by the fourteenth century. 
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7 Option C is correct  Throughout the article, the author discusses how Venice’s location 
in a marsh was a challenge that forced Venetians to build in unique, 
innovative, and successful ways. 

Option A is incorrect  The reader would infer the opposite based on the information in 
paragraphs 12 through 14: tidal effects on Venice have changed 
because of rising sea levels, though humans have innovated ways 
to combat those effects. 

Option B is incorrect  The fact that the MOSE system is activated when high tides are 
predicted does not necessarily mean that the MOSE system does 
the predicting itself. 

Option D is incorrect The author includes information that suggests that the shrinking of 
Venice’s boundaries has come to a halt for now, thanks to the 
MOSE system. 
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8 Option D is correct These sentences provide the reader with the most accurate and 
complete summary of the article by including a description of 
Venice’s canals, details about how Venice’s buildings are 
constructed, and information about how Venice is being preserved. 

Option A is incorrect The sentences in this summary overly focus on the artwork in 
Venice and neglect to include any information about how the city 
was built. 

Option B is incorrect This summary claims that “the city still floods regularly,” which is 
not accurate according to paragraph 13 of the article. 

Option C is incorrect Because this summary does not mention the how flooding 
challenges in Venice are being combatted today, it is not complete 
or effective as a summary.
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11 Option A is correct  At the end of the story, the author shows that the man highly 
regards Joey. This helps resolve the plot because Joey feels better 
about himself and more positive.  

Option B is incorrect There is no indication in the story that Joey feels disconnected from 
the other players.  

Option C is incorrect 
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12 Option C is correct By including words such as “fiasco” and phrases such as “critical 
misstep” in paragraph 1, the author shows Joey’s anxiety about 
enabling opposing players to score against his team. 

Option A is incorrect There is no mention of another scrimmage in paragraph 1 of the 
story. 

Option B is incorrect Although Joey is replaying the scrimmage in his mind and not 
actively in it, the author makes it clear that he had made key 
mistakes. 

Option D is incorrect The author indicates that Joey is frustrated that the other team 
scored, but this frustration is directed at himself and his own 
“critical misstep,” not his teammates’ actions. 
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14 Option D is correct In lines 15 through 19 of the poem, the speaker uses phrases such 
as “self-love” and “No more earthquakes of criticism & critique” to 
express her belief that she should accept herself as she is and not 
self-criticize.  

Option A is incorrect The speaker says she will not compare herself to others in line 20, 
but she does not mention any unfair treatment from others.  

Option B is incorrect Although the speaker wants to change the way she thinks about 
herself, she does not seem concerned about whether others will 
notice her new self-acceptance.  

Option C is incorrect In lines 18 and 19, the speaker suggests that she used to criticize 
herself. This might be interpreted incorrectly as a “past mistake.”  
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15 Option A is correct In line 11, the speaker refers to a figurative “blend of fabric” as 
being “amazing,” suggesting that it was made “carefully.” 
Therefore, the meaning of meticulously in this context is 
“carefully.” 

Option B is incorrect Although the word “rigidly” might indicate that 
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16 For ECR items, please refer to the scoring guide. 
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17 Option A is correct In “Good Enough,” Joey stops dwelling on his poor basketball 
performance and gains a positive attitude about his day after 
spending time with a kind elderly man. In “Simply Me,” the speaker 
discusses how good she feels when she can “see the good” in 
herself in lines 13 and 14. Therefore, both develop the idea that 
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18 Option A is correct Joey in “Good Enough” gains a positive attitude about himself after 
spending time with a cheerful man, while the speaker of “Simply 
Me” learns to ignore self-doubt and listen to her “affirmations.” For 
example, in line 6, she says that she possesses “Grace, wisdom & 
certainty.” 
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19 Option D is correct Both Joey from the story and the speaker of the poem develop a 
new, positive outlook on who they are as individuals. The way that 
they both shift their focus is similar.  

Option A is ioon 
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21 Option C is correct The labeled cities on the map help the reader see which ones were 
connected to the National Road. Information about the “settlement 
pattern” along the road is important to the ideas in paragraph 3.  

Option A is incorrect Although this is a map of the historic road, there is no timeline 
associated with the map. The road may have been built east to 
west, but there is no evidence that the cities along the road were 
built in that order. 

Option B is incorrect According to the map key, the road is 600 miles long, but it is still 
unclear to the reader how long it would take to travel the length of 
the road, especially since in paragraph 2, the author describes 
travel before cars existed. 

Option D is incorrect The author includes the map to demonstrate its location in the 
United States, which helps the reader better understand the 
information in the article. The author mentions in paragraph 7 that 
it is nice to travel the National Road but does not necessarily 
assume the reader will do so. 
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22 Option D is correct The author uses the phrase “barely touched by the passing of time” 
as a metaphor to suggest that some towns have remained 
unchanged, or as they have always been. 

Option A is incorrect  Although the quotation says that some towns remain as they were 
originally built, the author does not suggest the road prevented 
progress. In fact, the road supported progress in the United States, 
according to the article. 

Option B is incorrect The phrase “barely touched” is included in the quotation to suggest 
that the towns have not changed much throughout history. There is 
no suggestion that the towns have any kind of protected status. 

Option C is incorrect The author does not refer to the “passing of time” to suggest 
anything about the towns’ inhabitants. 
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23 Option B is correct The author uses chronological order in paragraphs 1 and 2 to 
explain the process, in order, of how and why the road came to be. 
For example, the author states in paragraph 1 that “in 1806 
Congress authorized construction of the road,” the first step toward 
getting it built. 

Option A is incorrect The author explains in paragraph 2 that each state took 
responsibility for its section of the road, but that is not why the 
author used chronological order in paragraphs 1 and 2. 

Option C is incorrect Dates are included in paragraphs 1 and 2, but the author never 
indicates which year the road opened in each state. 

Option D is incorrect The chronological order of paragraphs 1 and 2 helps the author 
explain how the road was developed, not how the government 
develops and funds projects in general. 
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24 Option C is correct In this quotation, the author implies that people take photos of the 
“old buildings, bridges, and old stone mile markers” along the road, 
indicating that the area is scenic. 

Option A is incorrect This quotation provides a completion date and the way that the 
road began to be used
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25 Option A is correct Paragraph 5 features descriptions of several historic stone bridges 
along the road. Paragraph 6 describes what mile markers are and 
where they might stand along the road. Therefore, both paragraphs 
illustrate, through description, unique features of the road. 

Option B is incorrect An explanation of why the road was initially built is in paragraph 1. 
There is no information about why the road was built in paragraphs 
5 or 6. 

Option C is incorrect Although the history of the Casselman River Bridge is told in 
chronological order in paragraph 5, construction of this bridge is 
only one part of the road’s story. These paragraphs do not look at 
“each event in the development of the National Road.” 

Option D is incorrect Bridges and mile markers may have served as solutions to some of 
the road’s problems, but details about the problems they 
addressed are not included in these paragraphs. 
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26 Option B is correct Although the author does not necessarily assume readers will travel 
the National Road, he details its little-known history, which would 
be of interest to people who like to take road trips to unique 
places. 

Option A is incorrect Thomas Jefferson is mentioned 
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28 Option C is correct In this context, the author uses the word icon to show that the mile 
markers were both a symbol indicating distance and a well-known 
feature of the historic National Road. 

Option A is incorrect There is no reference to computer technology in this article, making 
this an incorrect definition of icon. 

Option B is incorrect The author does not mention religion in any part of this article, so 
this definition of icon is incorrect. 

Option D is incorrect A person who is highly regarded might be an icon, but here, the 
author is describing mile markers, not people. 
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30 For ECR items, please refer to the scoring guide. 
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32 For SCR items, please refer to the scoring guide. 
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34 Option C is correct This sentence correctly places the subject, “Julian,” directly after 
the modifying phrase “Though not fluent in toddler speak,” making 
it an effective revision to sentence 20. 

Option A is incorrect “Pedro” is incorrectly placed directly after the modifying phrase 
“Though not fluent in toddler speak,” making it seem as though 
Pedro does not understand his own words. 

Option B is incorrect The syntax of this sentence expresses that Pedro is “not fluent in 
toddler speak,” which is incorrect. 

Option D is incorrect This sentence is awkward and unclear. 
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35 Option D is correct This revision effectively eliminates unnecessary words from 
sentence 
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37 Option A is correct The information in sentence 2 is overly similar to the information in 
sentence 1, so it should be deleted. 

Option B is incorrect Because sentence 4 is an answer to the question posed by 
sentence 3, sentence 3 must remain in the paragraph. 

Option C is incorrect 
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39 Option A is correct  “After six years of being his own boss” directly refers to 
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41 Option A is correct By helping women and people with disabilities, who may not be 
able to afford an initial investment in ARED, Nyakarundi provides 
aid to his community, making this a good idea for a topic sentence. 

Option B is incorrect 
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42 Option B is correct “For this reason” demonstrates the cause-and-effect relationship 
between sentences 29 and 30 effectively. 
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44 Option B is correct “However” is a conjunctive adverb, not a conjunction. Therefore, it 
cannot be used to combine two independent clauses into a 
compound sentence with only a comma. It requires a semicolon 
instead.  

Option A is incorrect Changing “were sold” to “was sold” would crea04 <015A>31.47 Td
[5s 611.47n5[5s 611.47n5[5s 2
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47 Option C is correct “Helps” is the present tense form of the verb “to help,” which is 
needed for tense consistency in the sentence. 

Option A is incorrect Changing “are benefiting” to “is benefiting” would create a subject-
verb agreement error.  

Option B is incorrect “Which in turn helped the overall economy” is a nonrestrictive 
clause, so it must be set off from the rest of the sentence with a 
comma for clarity. 

Option D is incorrect “Economy” is not a proper noun in this context.  
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48 Option B is correct A colon after “teenagers” would effectively introduce the quotation 
that follows. 

Option A is incorrect If the writer changed “say” to “saying,” then she would also need to 
include the helping verb “are.”  

Option C is incorrect “Are” not a misspelling of the word “our,” which would be illogical 
in the context of this sentence. 

Option D is incorrect “Are you listening to me?” is a question, so it requires a question 
mark. 
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49 Option D is correct The pronoun refers back to the plural subject “people,” so “their” 
should be used for agreement.  

Option A is incorrect Although the word “group” refers to multiple people, it refers to a 
single group in sentence 8. To properly form the possessive, the 
apostrophe needs to come before the “s.”  

Option B is incorrect A comma after “together” would be unnecessary in this sentence.   

Option C is incorrect The infinitive forms of “share” and “preserve” are parallel in this 
sentence and should not be changed. 
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50 Option A is correct There are two separate ideas in sentence 16 without any 
punctuation between them, which creates a run-on sentence.   

Option B is incorrect The two independent clauses in this sentence would ideally be 
separated with a comma before “and,” so this sentence is incorrect. 

Option C is incorrect The second sentence here is a fragment and therefore incorrect. 

Option D is incorrect The conjunction “so” in this sentence does not correctly express the 
cause-and effect relationship between the two ideas.  
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52 Option B is correct The context of the sentence calls for the plural of “hour,” which is 
“hours.” The apostrophe indicates a possessive.  


